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Instructions — Lake Bottiglietta

You are the newly appointed water manager for Lake Bottiglietta

It is a reservoir that serves water uses for Thursty Town

water supply toa town
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Instructions — Lake Bottiglietta

Thursty Town needs water for the period June-July-Aug.
To ensure the different water uses of Thursty Town all summer, Lake
Bottiglietta has to contain at least 60 Mm3 on June 15,

Winter conditions Mar | Apr | May | Jun | Jul | Aug

60 Mm3
on June 1st




Instructions — Decision options

As manager of the lake, you have to take a decision on June 15,
o Do nothing: if you expect your reservoir to reach 60 Mm3 on June 19

o Sell the surplus water: if you expect your reservoir to reach 100 Mm?3
or more on June 1%

o Contact your neighbours: If you do not expect to ensure the
minimum threshold of 60 Mm?3 in the reservoir on June 15

o Wait and see: If you judge that the forecast information is not
adequate to take a decision and wish to wait until the next forecast
comes out

. . Sell surplus Contact
‘ Wait & see Do nothing ater neighbours

w
March ] [] [] []
Year April [] [] [] []
] oA i 1 1 1




Instructions — Forecasts

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.

After each forecast, you have to make a decision for June 15,

1st June
Decision

N

Winter conditions *Mor Apr | May | Jun | Jul | Aug

1st March
Forecast 1
15t Apri
Forecast 2
1st May
Forecast 3




Instructions — Forecasts

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.

After each forecast, you have to make a decision for June 15,

are irrevocable

1st June
Decision
Winter conditions *Mor Apr | May | Jun | Jul | Aug
7N
1st March
Forecast 1
1t April All decisions
Forecast 2
1st May

Forecast 3




Instructions — Forecasts

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.
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Instructions — Forecasts

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.
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Instructions — Forecasts

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.
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Instructions — Forecasts

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.
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Instructions — Forecast Uncertainty

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.
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Instructions — Forecast Reliability

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.
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Instructions — Forecast Reliability

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.
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Instructions — Forecast

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.
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Instructions — Forecast

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.

- If you judge that the forecast information is not adequate to take
a decision, you can choose to Wait & see

vonating | Sl | Conieet
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Instructions — Forecast

To help you make this decision:

- You will receive probabilistic forecasts of reservoir levels for June
151, issued on March 1st, April 1t and May 15t and their reliability.

After each forecast, you have to make a decision for June 15,
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Instructions - Game rules

Your initial budget is: 50 000 tokens

If you contact neighbouring water providers, you pay:
March: - 1 000
April: - 2 000
May: - 5 000

If you sell surplus water and have more than 100 Mm? on June 1%,
you gain:

March: + 6 000

April: + 4 000

May: + 2 000

If you cannot provide water to Thursty town (60 Mm3 on June 151),
you pay a fine of - 10 000

If you sold surplus water and your reservoir did not reach 100 Mm3
on June 1st, you pay - 12 000 tokens: 10 000 for not being able to
provide water to Thursty Town and an additional 2 000 for the loss in
reputation.




Before starting!

v" Your main responsibility is to ensure 60 Mm?3 in the reservoir on June 15,
The WINNER of the game:
Always 60 Mm?3 in her/his reservoir

Largest budget among those that fulfill 1

v Round 1 Each year of the water supply toa town

1t round you will receive (

an independent set of

forecasts
I— o0
v Round 2 You will be given O DE 0o
the opfion to pay for “olfoo
improved forecasts. L e E




Before starting: Worksheet

You have a worksheet to mark your decisions!

Remember to return it after the game!

Seasonal forecasting for water management
in different certainty and reliability contexts

CLARA

A PRELIMINARY QUESTIONS ROUND 1

Start budget: 50 000

Professional background :

o Hydrology / o Climate / o Meteorology / o Economy / o Other: ...
Wait & see Do nothing Sell surplus Co.muc'
Sector: water neighbours
E Eorjrﬁregry ",D,W,OTE,r fesrogrcresrl n R,isk prrre\f'ernﬂronr,’ j Agl,’icen,ure,‘l,: ,)-,'E,m?hli o March O O [ O
year | AP ] O O O
Role / Task in the company : ;
o Forecaster / o Decision-maker/ o Trader / o Researcher / o Consultant/ May O O O O
OO NG e e June 1¢ 50000 %=
Experience : March O O O O
o<5years /o é-10years /o 11-15 years / o 16-25 years / o > 25 years -
Year | APl O O O O
Country @ .ovvvverenrrnrannes 2 May O O 0 0O
June 1 | For e T e T
REMEMBER THE RULES! March O a OJ O
YourInifial budget Is: 50 000 tokens Year | AP O O U .
3| Moy O O O O
If you cannet provide water to Thursty town for the season (60 Mm?3on June 1), ; =
you get a fine of - 10 000 June 1t | Ll T N
If you decided to sell surplus water: Mareh O
- and you have more than 100 Mm?3on June 1%, you gain: year | Aprl O
+ 6 000 if you firstsold In March 4
+ 4 000 1fyou firstsold in April May O
+2 000 Tfyou firstsold on May 1¢' Jone 14 B}
- and you don't reach 100 Mm?on June 1%, you lose - 12 000 because you did
not provide Thursty Town and lose reputation March O O O
If you had to contact neighbouringwater providers, you pay: Year | APl O Ol O
- 1000 if you informed them as early as March 5
- 2000 If you Informed them In April May g g O
- 5000 if you informed themon May 1° June 1¢ S, R S

Final budget: ...




Before starting: Worksheet

You have a worksheet to mark your decisions!

Fill in your details in section A of the worksheet

A PRELIMINARY QUESTIONS

Professional background :
o Hydrology / o Climate / o Meteorology / o Economy /o Other: ..ooooviiiiiieninns

Sector:

o Energy / o Water resources / o Risk prevention / o Agriculture / o Health /

mE O] 1 o1 U U U U PU U PP ORI
Role / Task in the company :

o Forecaster / o Decision-maker / o Trader / o Researcher/ o Consultant/
O T

Experience :
o<S5vyears /oé10years /o 11-15 years / o 16-25 years / o > 25 years

REMEMBER THE RULES!

Your initialbudget Is: 50 000 fokens

If you cannot provide water to Thursty fown for the season (60 Mm3on June 1),
you get a fine of - 10 000

If you decided to sell surplus water: .

Seasonal forecasting for water management
in different certainty and reliability contexts

C

B ROUND 1

Start budget: 500
Wait & see Do nothing ‘SNec:I‘;:erl

March O ] []

Year | APl ) [] D

' | May O O O
June 1+ 50000 F.ovverieiiiievieiiie s T e

March ] (] ]

year | AP [ O] []

2| may O O O
June st | Ll F e T e

March O ] [

Year | APl [ O] O

3 May L] L] [l
June 1+ e e T

March ] ] []




Before starting: Worksheet

You have a worksheet to mark your decisions!

You can look at the options and costs at any timel

Experience : March [] ]
o<&years /o 6-10years /o 11-15 years / o 16-25 years / o > 25 years -
vear | Aprl ] ]
Z | May N N
June st | Ll S O
REMEMBER THE RULES! March ] H
Yourinifial budget is: 50 000 tokens vear | AP J L]
3 | May ] O
If you cannot provide water to Thursty town for the season (60 Mm?2on June 15), -
you get a fine of - 10 000 June 15t [ L F o "
If you decided to sell surplus water: March [ O
- and you have more than 100 Mm?3on June 15, you gain: Year April ] ]
+ 6 000 if you first sold in March 4
+ 4 000 if you firstsold in April May U ]
+ 2 000 if you first sold on May 15 June 15t +
- and you don’t reach 100 Mm?on June 1%, you lose - 12 000 becauseyou did | ® oo | ~
not provide Thursty Town and lose reputation March ] ]
If you had to contact neighbouring water providers, you pay: Year | APl UJ O]
- 1000 if you informed them as early as March 5
- 2,000 i you Informed them in Aprl May L] L]
- 5000 if you informed them on May 1% June1st | L F o

Final budget: ...
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Stari

To represent the group...
We need a VOLUNTEER !
Who in the room?




It's March 15t from Year 1

This is the probabilistic forecast issued on March 15t for June 1st
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Fill in the sheet!
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It's April 15t from Year 1

This is the probabilistic forecast issued on April 15 for June 1+
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It's May 15 from Year 1

This is the probabilistic forecast issued on May 15t for June 1+t

Reliability

v+

O 20 40 60 80 100

Wait & see

Do nothing

Sell surplus
water

Contact
neighbours

T 140 -4 @
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M A M J
What do you decide
for June 15t ? —> | Yeu

Fill in the sheet!




It's June 15t 1l

This is the observed reservoir volume on June 1st

-

-

\
The reservoir volume
on June 1s
is 105 Mm?3 !
J
Wait & see Do nothing Sell surplus Contact

water

neighbours
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Update your budget
In the sheet! —> | Yeur

50 000 - loss = New budget
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May

June 15




It's March 15t from Year 2

This is the probabilistic forecast issued on March 15t for June 1st
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It's April 15t from Year 2

This is the probabilistic forecast issued on April 15 for June 1+
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It's May 1t from Year 2

This is the probabilistic forecast issued on May 15t for June 1+t

Reliability

'+

O 20 40 60 80 100

Wait & see

Do nothing

Sell surplus
water

Contact
neighbours
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Fill in the sheet!




It's June 15t 1l

This is the observed reservoir volume on June 1st

-

\
The reservoir volume
on June 1st
is 55 Mm3 !
J
Wait & see Do nothing Sell surplus Contact

water

neighbours
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Update your budget
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It's March 15t from Year 3

This is the probabilistic forecast issued on March 15t for June 1st

Reliability
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Fill in the sheet!

Wait & see

Do nothing

Sell surplus

Contact

water neighbours
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It's April 15t from Year 3

This is the probabilistic forecast issued on April 15 for June 1+
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It's May 15 from Year 3

This is the probabilistic forecast issued on May 15t for June 1+t

Reliability
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It's June 15t 1l

This is the observed reservoir volume on June 1st
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Update your budget
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The reservoir volume
on June 1s
is 103 Mm3 !
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It's March 15t from Year 4

This is the probabilistic forecast issued on March 15t for June 1st
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It's April 15t from Year 4

This is the probabilistic forecast issued on April 15 for June 1+
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It's May 15 from Year 4

This is the probabilistic forecast issued on May 15t for June 1+t

Reliability
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It's June 15t 1l

This is the observed reservoir volume on June 1st

-

\
The reservoir volume
on June 1st
is 92 Mm3 !
Y,
Wait & see Do nothing Sell surplus Contact

water

neighbours
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It's March 15t from Year 5

This is the probabilistic forecast issued on March 15t for June 1st

Reliability
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It's April 15t from Year 5

This is the probabilistic forecast issued on April 15 for June 1+
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It's May 1¢t from Year 5

This is the probabilistic forecast issued on May 15t for June 1+t

Reliability
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It's June 15t 1l

This is the observed reservoir volume on June 1st

-

\
The reservoir volume
on June 1st
is 51 Mm3!
Y,
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END OF ROUND 1

Did you ensure the 60 Mma3 for the summer season ?

What is your budget at the end of this round ?




START OF ROUND 2

You will manage the reservoir for 5 more years. The bank gives you
10 000 tokens which you add to your previous balance.

Will you pay for improved forecasts?

C ROUND 2

Seasonal forecasting for water management
in different certainty and reliability contexts

Previousbudget+ 10000 : ..............

D QUESTIONS & DISCUSSIOI

Default 0
Waite | Do sell Contact How useful did you find the following information in y
see nothing surplus | neighbours
Not slightly |
Membership: | March O O [ O useful | useful ;
o worthy
vy | O pefault Apri ] L] L] L] o GC;:Epmble Reliability information
o not worthy
] L] May L] L] L] ] Forecast range
[] Junel | Ll T T =
Membership: | March [ [ [ O worthy What minimum level of reliability would allow you to
[m]
v | O Defautt April [] ] ] [] o uc;:epmble L 0 (always wrong) / .20 / L 40 / L 60 /
o not worthy
21 1M Meay il il il M



START OF ROUND 2

Will you pay for improved forecasts?

The forecasters of your region have now made available two
improved forecast systems. You have the option to subscribe to
one of the forecast systems for a 1-year period, which you will be

able to renew or change every year.

Right in

<75% of cases

Rightin

>75% of cases

Certainty

Default =

- Silver

50

75

Reliability

100

Yearly cost
Default 0 token
Silver 1 000 tokens




START OF ROUND 2

Will you pay for improved forecasts?

The forecasters of your region have now made available two
improved forecast systems. You have the option to subscribe to

one of the forecast systems for a 1-year period, which you will be
able to renew or change every year.

Uncertainty reminder! Reliability reminder! -
— 0 % means that the @
| N Reliability posteriori observation is
- 25% probability - 4 + never in the forecast
0O 20 40 60 80 10 range
- 50% probability
! "
J_ } 25% probability Historically, the 100 % means that the a
observation falls 50 % of  posteriori observation is
fhe times within the always in the forecast

forecast range range



START OF ROUND 2

Will you pay for improved forecasts?

The forecasters of your region have now made available two
improved forecast systems. You have the option to subscribe to
one of the forecast systems for a 1-year period, which you will be

able to renew or change every year.

Right in

<75% of cases

Rightin

>75% of cases

Certainty

Default =

- Silver

50

75

Reliability

100

Yearly cost
Default 0 token
Silver 1 000 tokens




START OF ROUND 2

Will you pay for improved forecasts?
Each year you will be able to change/cancel your subscription

Each subscription will play simultaneously but on different years

Right in Right in
<75% of cases |>75% of cases Yearly cost
Default 0 token
. = Silver 1 000 tokens
c
9 |
g | |T —
Default = Silver Let's start!
T Choose your subscription
for Year 1
50 75 100

Reliability



Forecast reservoir volume (Mm3)

It's March 15t from Year 1

This is the probabilistic forecast issued on March 15t for June 1st

Default Silver
140 - l ®
120 -
100 hd 1 > 1
80 —
60 - - .
40 —
20 — |
0 —
| | | | | | | | | | |
M A M J M A M J M A M

What do you decide for June 15t ?

Fill in the sheet!



It's April 15t from Year 1

This is the probabilistic forecast issued on April 15 for June 1+

Default Silver
"”5 140 —
s |
) [ )
o o
E 100 , 1L
2 . *
> 80 —
'S 1
S 60 .
L
O 40 -
8 20 — |
o
o 0-
L [ [ [ | [ | [ | [ | [
M A M J M A M J M A M

What do you decide for June 15t ?

Fill in the sheet!



Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's May 15 from Year 1

This is the probabilistic forecast issued on May 15t for June 1+t

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
l °
® ® T ®
. T ® ® ®
A A
| | | | | | | | | | | |
M A M J M A M J M A M

What do you decide for June 15t ?

Fill in the sheet!




It's June 15t 1l

This is the observed reservoir volume on June 1st

Default Silver

‘E 140 —

s |

GE) ® ® o [ J

S 100 [ J

[e) ® L ®

> 80 -

5 5

§ 60 i

O 40 -

é 20 — |

o

"'? | | | | | | | | | | |
M A M J M A M J M A M
[ 55 Mm? ] [ 105 Mm3 ] 105 Mm3

Update your budget in the sheet!
Budget- loss = New budget



ROUND 2 - YEAR 2

Choose your subscription
for Year 2!

Rightin Right in
<75% of cases >75% of cases
é Yearly cost
>
= Default 0 token
£ | .
*g Silver 1 000 tokens
8 T
Default =——» Silver
1
50 75 100

Reliability



Forecast reservoir volume (Mm3)

It's March 15t from Year 2

This is the probabilistic forecast issued on March 15t for June 1st

Default Silver
140 -
100 T T
80 —
60 g = T
40 —
20 — |
0 —
| ! ! ! | ! ! ! | ! !
M A M J M A M J M A M

What do you decide for June 15t ?

Fill in the sheet!



Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's April 15t from Year 2

This is the probabilistic forecast issued on April 15 for June 1+

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
Y A l ®
o T ® o
T
—t
| | | | | | | | | | | |
M A M J M A M J M A M

What do you decide for June 15t ?

Fill in the sheet!




[N

SN

o
|

=

N

o
|

It's May 1t from Year 2

This is the probabilistic forecast issued on May 15t for June 1+t

|
o
o

o)
o
|

N A O
© o O
| |

Forecast reservoir volume (Mm3)
o
|

Default Silver
Y A l ®
o
o T ® O
= o -1 o
| | | | | | | | | | | |
M A M J M A M J M A M

What do you decide for June 15t ?

Fill in the sheet!




It's June 15t 1l

This is the observed reservoir volume on June 1st

Default Silver

‘E 140 —

: * .

S 100 ) ° )

O

Z 80 —

= o o

S 60

0 o

O 40 -

é 20 — |

0

o 0-

Mo | | | | | | I | | | I
M A M J M A M J M A M
[ 110 Mm3 ] [ 50 Mm3 ] 50 Mm3

Update your budget in the sheet!
Budget- loss = New budget



ROUND 2 - YEAR 3

Choose your subscription
for Year 3!

Rightin Right in
<75% of cases >75% of cases
é Yearly cost
>
= Default 0 token
£ | .
*g Silver 1 000 tokens
8 T
Default =——» Silver
1
50 75 100

Reliability



Forecast reservoir volume (Mm3)

It's March 15t from Year 3

This is the probabilistic forecast issued on March 15t for June 1st

Default Silver

140 - S l ®

120 -

100 s T =L
80 — uE L
60
40 - ==
20 - |

0 -
| ! ! ! | ! ! ! | ! ! !
M A M J M A M J M A M J

What do you decide for June 15t ?

Fill in the sheet!




Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's April 15t from Year 3

This is the probabilistic forecast issued on April 15 for June 1+

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
Y l ®
° ° — -
é T —- %
| | | | | | | | | | | | |
M A M J M A M J M A M J

What do you decide for June 15t ?

Fill in the sheet!




Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's May 1¢t from Year 3

This is the probabilistic forecast issued on May 15t for June 1+t

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
® l ®
P (]
. - 1 =
[ ]
m—
| | | | | | | | | | | | |
M A M J M A M J M A M J

What do you decide for June 15t ?

Fill in the sheet!




It's June 15t 1l

This is the observed reservoir volume on June 1st

Default Silver

"”é 140 — o l ®

E 120 -

E oo ® ® ® ®

3 ® »

Z 80 - [

é 60 o Py

O 40—

é 20 — |

0

o) 0 —

L | | | | | | | | | | |
M A M J M A M J M A M
[ 55 Mm? ] [ 105 Mm? ] 87 Mm?

Update your budget in the sheet!
Budget- loss = New budget



ROUND 2 - YEAR 4

Choose your subscription
for Year 4!

Rightin Right in
<75% of cases >75% of cases
é Yearly cost
>
= Default 0 token
£ | .
*g Silver 1 000 tokens
8 T
Default =——» Silver
1
50 75 100

Reliability



Forecast reservoir volume (Mm3)

It's March 15t from Year 4

This is the probabilistic forecast issued on March 15t for June 1st

Default Silver

[N
SN
o
|

=

N

o
|

il
1

o)
o
|

|_
I_

nNA
o O
| |

o
|

What do you decide for June 15t ?

Fill in the sheet!



Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's April 15t from Year 4

This is the probabilistic forecast issued on April 15 for June 1+

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
' l
[ ]
o
T o
® o Il
—_ [ ]
— .
| | | | | | | | | | | | |
M A M J M A M J M A M J

What do you decide for June 15t ?

Fill in the sheet!




Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's May 15 from Year 4

This is the probabilistic forecast issued on May 15t for June 1+t

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
! l
o
()
o e o
®

T ® S
| | | | | | | | | | | |
M A M J M A M J M A M

What do you decide for June 15t ?

Fill in the sheet!




It's June 15t 1l

This is the observed reservoir volume on June 1st

Default Silver

% 140 - P

E 120 - ® ®

€ °® o ®

=) 100 ®

S ®

< 80 — ° P ®

S 60

Y

O 40 —

é 20 — |

o

o) 0 —

L | | | | | | | | | | |
M A M J M A M J M A M
[ 105 Mms | [ 75 Mm? ] 55 Mm?

Update your budget in the sheet!
Budget- loss = New budget



ROUND 2 - YEAR 5

Choose your subscription
for Year 5!

Rightin Right in
<75% of cases >75% of cases
é Yearly cost
>
= Default 0 token
£ | .
*g Silver 1 000 tokens
8 T
Default =——» Silver
1
50 75 100

Reliability



Forecast reservoir volume (Mm3)

It's March 15t from Year 5

This is the probabilistic forecast issued on March 15t for June 1st

Default Silver
140 —
l o
120 — ~ R
100 T e T
80 — -
60 g g
40 —
20 — |
o —
[ | | | [ | | | [ | | |
M A M J M A M J M A M J

What do you decide for June 15t ?

Fill in the sheet!




Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's April 15t from Year 5

This is the probabilistic forecast issued on April 15 for June 1+

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
l o

® i ° o —/

== =0
o
—t o
| | | | | | | | | | | | |
M A M J M A M J M A M J

What do you decide for June 15t ?

Fill in the sheet!




Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's May 1¢ from Year 5

This is the probabilistic forecast issued on May 15t for June 1+t

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
l .
o
PN o
é [ ] —I— i o
®
== )

| | | | | | | | | | | |
M A M J M A M J M A M

What do you decide for June 15t ?

Fill in the sheet!




Forecast reservoir volume (Mm3)

[N

SN

o
|

=

N

o
|

It's June 15t 1l

This is the observed reservoir volume on June 1st

|
o
o

o)
o
|

(o)}
o

I
o
|

N
o
|

o
|

Default Silver
l .
[ ] ‘ * o
o
o o
o
o
| | | | | | | | | | |
A M J M A M J M A M
70 Mm® | [ 50 Mm? ] 110 Mm3

Update your budget in the sheet!
Budget- loss = New budget




END OF ROUND 2

Did you ensure the 60 Mma3 for the summer season ?

What is your budget at the end of this round ?




Water management game: worksheet

You have a worksheet to mark your decisions!
Remember to return it after the game!

Fill in your answers in section D of the worksheet

Seasonal forecasting for water management
CLARA
in different certainty and reliability contexts
C ROUND 2 D QUESTIONS & DISCUSSION
s + .
bDefault 0 Previousbudget+ 10000 : ..............
Waitz | Do sell Confact How useful did you find the following information in your decision-making?
see nothing surplus | neighbours )
Not Slightly Useful Very Did not
Membership: | March O ] [ U . useful | useful useful use it
o worthy
v | [ Default April O (| U Ll o uC;:ep:n'hble Reliablity information o
o not worthy
O May L] L] O] O Forecast range m}
U Junel | Ll T LT =
Membership: March O O O ] = worthy What minimum level of reliability would allow you to make a forecast-based decision?
v | O Default April | O O [l = UC;:eP:i'hble L 0 (always wrong) / 120 /L 40 /L 60 /L 80 / L 100 (perfect)
2 0 Mo 0 o hot worthy
0 Y = = = What minimum level of certainty would allow you to make a forecast-based decision?
jonel | e S e T L 0 (climatology) / 20 / L 40 / L 60 / L 80 / L 100 (deterministic)
Membership: | Morch O O O O
) © worthy From which month were you willing to make a decision for June 1st?
v | [ Default April ] ] O [l o acceplable
o not worthy L Mar / U Apr / U May
Sl o May O O 0 [
O Junel | o e = Have your decision criteria changed during the game? If so, how?
Membership: | March O O O ] = worthy
¥ ] Default April ] ] | ] o acceplable
4 o not worthy
U May L] L] (1 O
O June 1 N ~ _ Comments
— T — T = ] — 1




END OF THE GAME

Thank you for playing the game

hepex,

CLARA

License conditions Creative Commons Attribution-NonCommercial-NoDerivs 4.0 International (CC BY-NC-ND 4.0)
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